Intersection: Serra St/Park Blvd at E1l Camino Real, Palo Alto, California

MapData payload size 896
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gov.usdot.asnl.generated.j2735.dsrc.Messageframe
value MessageFrame ::= {
messageld 18,
value MapData : {
msglssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1004
by
revision O,
refPoint {
lat 374299919,
long -1221517955,
elevation 150
by
lanewWidth 350,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1629,
y 1635
}
by
{

delta node-XY3 : {
x 1757,



y 914
}
}y
{

delta node-XY3 : {
x 1531,
y 687
}
by
{

delta node-XY2 : {
x 775,
y —-36
}
}
by
connectsTo {
{
connectingLane {
lane 19,
maneuver {maneuverRightAllowed}
by
signalGroup 4
}
}
by
{
lanelID 2,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1912,
y 1304
}
by
{

delta node-XY5 : {
x 3780,
y 1896
}
by
{

delta node-XY5 : {
X 6626,
y 3364
}
by
{

delta node-XY4 : {
x 3482,
y 2127
}
}
I
connectsTo {
{
connectingLane {
lane 1,
maneuver {maneuverStraightAllowed}
}
b
{



connectingLane {
lane 10,
maneuver {maneuverLeftAllowed}
b
signalGroup 4
by
{

connectingLane {

lane 14,

maneuver {maneuverStraightAllowed}
by
signalGroup 4

}

laneID 3,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2165,
y 1020
}
by
{
delta node-XY3 : {
x 1699,
y 880
}
by
{

delta node-XY4 : {
x 2076,
y 1046
}
by
{

delta node-XY5 : {
x 6096,
y 3098
}
by
{

delta node-XY5 : {
x 3912,
y 1906

lanelID 4,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {

{



delta node-XY3 : {
x 2015,
y -201
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dWwidth 10
}
by
{

delta node-XY4 : {
x 2589,
y —2732
}
by
{

delta node-XY5 : {
x 2943,
y —-3169
}
by
{

delta node-XY5 : {
x 5382,
y —-5965
}
}
I
connectsTo {
{
connectingLane {
lane 3,
maneuver {maneuverRightAllowed}
b
signalGroup 6
b
{

connectingLane {
lane 19,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
}

lanelID 5,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1691,
y —-420
}
by
{



delta node-XY4
x 2717,
y =2779
}
by
{

delta node-XY5
x 2839,
y -3115
}
by
{

delta node-XY5
x 5436,
y —-5935
}
}
by
connectsTo {

{

connectingLane {

lane 20,

{

{

{

maneuver {maneuverStraightAllowed}

by
signalGroup 6
}
}
by
{
laneID o,

ingressApproach 3,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},
laneType vehicle
by

{}

maneuvers {maneuverStraightAllowed},

nodelList nodes : {
{
delta node-XY3
x 1429,
y —-633
}
by
{

delta node-XY4
x 2752,
y —2845
}
by
{

delta node-XY5
x 2901,
y -3129
}
by
{

delta node-XY5
x 5328,
y —-5885
}
}
by
connectsTo {

{

connectingLane {

lane 21,

{

{

{

{

maneuver {maneuverStraightAllowed}

}y



signalGroup 6
by
{

connectingLane {
lane 7,
maneuver {maneuverStraightAllowed}

lanelID 7,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1138,
y —-841
by
attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x 2770,
y —2888
}
by
{

delta node-XY4 : {
x 2393,
y —2346
}
by
{

delta node-XY2 : {
x 781,
y —-532
}
}
by
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverUTurnAllowed}
by
signalGroup 1
by
{

connectingLane {
lane 14,
maneuver {maneuverLeftAllowed}

b
signalGroup 1

}
Y,
{
lanelID 8,

egressApproach 4,
laneAttributes {



directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 95,
y —-1560
by
attributes {
dwidth 30
}
by
{

delta node-XY4 : {
x 2809,
y —2937
}
by
{

delta node-XY5 : {
x 3032,
y —-3324
}
by
{

delta node-XY5 : {
x 5007,
y —-5507
}
}
b
connectsTo {
{
connectinglLane {
lane 13,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1005

laneID 9,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 383,
y —-1345
}
by
{

delta node-XY5 : {
x 2827,
y —2966
}
by



delta node-XY5 : {
x 2941,
y —-3134
}
by
{

delta node-XY5 : {
x 5068,
y —-5675
}
}
b
connectsTo {
{
connectinglane {
lane 14,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1005

lanelID 10,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 678,
y —-1164
}
by
{

delta node-XY5 : {
x 2857,
y —2947
}
by
{

delta node-XY5 : {
x 2925,
y -3119
}
by
{

delta node-XY5 : {
x 5043,
y —-5699
}
}
b
connectsTo {
{
connectinglLane {
lane 15,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,



id 1005

laneID 11,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1232,
y —-1586
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559

delta node-XY4 : {
x -2156,
y —-1077
}
by
{
delta node-XY3 : {
x -1869,
y —-803
}
by
{

delta node-XY3 : {
x =-1517,
y —263
}
}
b
connectsTo {
{
connectingLane {
lane 8,
maneuver {maneuverRightAllowed}
by
signalGroup 4
}
}
by
{
laneID 12,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}

by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed},



nodelList nodes : {
{
delta node-XY3
x -1540,
y -1218
}
by
{

delta node-XY4
x =-2139,
y -1031
}
by
{

delta node-XY4
x -1898,
y —947
}
by
{

delta node-XY3
x -1197,
y —-533
}
by
{

delta node-XY3
x -1577,
y =273
}
by
{

delta node-XY3
x —-1745,
y 3
}
by
{

delta node-XY4
x —-2959,
y 458
}
by
{

delta node-XY4
x -3127,
y 487
}
by
{

delta node-XY4
x —-2291,
y =30
}
by
{

delta node-XY3
x -1818,
y —424
}
by
{

delta node-XY3
x -1850,
y —714
}
by
{

delta node-XY3



x -1303,
y =749
}
1y
{

delta node-XY3 : {
x =1275,
y -1110
}
by
{

delta node-XY5 : {
x -4913,
y —4514
}
}
b
connectsTo {
{
connectingLane {
lane 3,
maneuver {maneuverStraightAllowed}
by
signalGroup 4
by
{

connectingLane {
lane 11,
maneuver {maneuverStraightAllowed}
}
b
{

connectingLane {

lane 21,

maneuver {maneuverLeftAllowed}
by
signalGroup 4

}

laneID 13,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -2082,
y —544
by
attributes {
dwidth 40
}
by
{
delta node-XY3 : {
x -1555,
y —-878
}
by
{

delta node-XY3 : {
x —-1488,
y -1102



}
b
connectsTo {
{
connectingLane {
lane 14,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID 14,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed, maneuverRightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x =-1772,
y -910
}
by
{

delta node-XY3 : {
x -1598,
y —-793
}
by
{

delta node-XY3 : {
x —-1755,
y —-821
}
by
{

delta node-XY3 : {
x —-1849,
y —842
}
by
{

delta node-XY3 : {
x -1387,
y =277
}
by
{
delta node-XY3 : {
x —-1740,
y -4
}
by
{

delta node-XY4 : {
x -2891,
y 456
}
by
{

delta node-XY4 : {
x —-3133,
y 475

}



}y
{

delta node-XY4 : {
x -2392,
y =22
}
by
{

delta node-XY4 : {
x -2033,
y —-446
}
by
{

delta node-XY4 : {
x =2009,
y —841
}
by
{

delta node-XY3 : {
x —-1291,
y -840
}
by
{
delta node-XY3 : {
x —-1428,
y —-1223
}
by
{

delta node-XY5 : {

x -4562,
y —-4238
}
}
}
by
{
lanelID 15,

ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -2022,
y 628
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dwidth -40
}
by
{

delta node-XY5 : {



x -3678,
y 3986
}
b
{

delta node-XY6
x -7472,
y 8256
}
I
{

delta node-XY5
x —-28560,
y 3139
}
}
by
connectsTo {

{

connectingLane {

lane 8,

{

{

maneuver {maneuverStraightAllowed}

b
signalGroup 2

}y
{

connectingLane {

lane 13,

maneuver {maneuverRightAllowed}

b
signalGroup 2

}

laneID 1o,
ingressApproach 7,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},
laneType vehicle
by

{}

maneuvers {maneuverStraightAllowed},

nodeList nodes : {
{
delta node-XY3
x -1657,
y 765
}
by
{

delta node-XY5
x —-3754,
y 4068
}
by
{

delta node-XY6
x =-7528,
y 8272
}
by
{

delta node-XY5
x —-2879,
y 3162

}

by

{

{

{

{



connectsTo {
{
connectingLane {
lane 9,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
by
{
laneID 17,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1298,
y 905
}
by
{

delta node-XY5 : {
x -4690,
y 5080
}
I
{

delta node-XY6 : {
x -6731,
y 7418
}
by
{

delta node-XY5 : {
x -2863,
y 3110
}
}
b
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {
lane 18,
maneuver {maneuverStraightAllowed}

laneID 18,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b



maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},

nodelList nodes : {
{
delta node-XY3 : {
x -982,
y 1050
b
attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x -19760,
y 2165
}
by
{

delta node-XY4 : {
x -1896,
y 1992
}
by
{

delta node-XY3 : {
x —-1134,
y 778
}
}
by
connectsTo {
{
connectingLane {
lane 3,
maneuver {maneuverLeftAllowed}
by
signalGroup 5
by
{

connectingLane {
lane 21,
maneuver {maneuverUTurnAllowed}
by
signalGroup 5
}

laneID 19,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 358,
y 1575
b
attributes {
dwidth 30
}
by
{

delta node-XY5 : {
x —-444¢,



y 4807
}
}y
{

delta node-XY6 : {
x -79717,
y 8764
}
by
{

delta node-XY4 : {
x -2396,
y 2577
}
}
b
connectsTo {
{
connectinglane {
lane 5,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1003

laneID 20,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =72,
y 1432
}
by
{

delta node-XY5 : {
x —-4287,
y 4647
}
by
{

delta node-XY6 : {
x -8048,
y 8812
}
by
{

delta node-XY4 : {
x -2328,
y 2562
}
}
I
connectsTo {
{
connectingLane {
lane 6,
maneuver {maneuverStraightAllowed}



b
remoteIntersection {
region O,
id 1003

laneID 21,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x —-385,
y 1272
}
by
{

delta node-XY5 : {
x —-4139,
y 4439
}
by
{

delta node-XY6 : {
x -8139,
y 8897
}
by
{

delta node-XY4 : {
x -2357,
y 2611
}
}
b
connectsTo {
{
connectinglane {
lane 7,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1003

}
by
{
lanelID 22,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x 1245,
y 1821
b



attributes {
dwidth -30
}
by
{

delta node-XY3 : {
x 1300,
y —-1458
}
}
I
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverRightAllowed}
b
signalGroup 14
b
{

connectingLane {

lane 25,

maneuver {maneuverLeftAllowed}
by
signalGroup 14

}
by
{
laneID 23,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x 2545,
y 363
}
by
{

delta node-XY4 : {
x -1762,
y —-1197
}
by
{

delta node-XY3 : {
x -1266,
y —-920
}
}
by
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverLeftAllowed}
by
signalGroup 12
by
{

connectingLane {

lane 24,

maneuver {maneuverRightAllowed}
b
signalGroup 12



}
}y
{

laneID 24,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY3 : {
x =967,
y -1756
}
by
{

delta node-XY4 : {
x -1560,
y 1948
}
}
by
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverLeftAllowed}
by
signalGroup 10
by
{

connectingLane {
lane 25,
maneuver {maneuverRightAllowed}
by
signalGroup 10
}
}
by
{
laneID 25,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x =-2527,
y 192
}
by
{

delta node-XY4 : {
x 1973,
y 802
}
by
{

delta node-XY3 : {
x 1799,
y 827
}
}
by
connectsTo {



connectingLane {
lane 22,
maneuver {maneuverRightAllowed}
b
signalGroup 12
}y
{

connectingLane {
lane 24,
maneuver {maneuverLeftAllowed}
b
signalGroup 12
}
}
by
{
lanelID 26,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {}
by
nodelList nodes : {
{
delta node-XY6 : {
x —-14468,
y —2437
}
by
{

delta node-XY3 : {
x -131,
y —-1362



